
07Fire Fighting Unit Operator’s Handbook

Rapid Fire Fighting by Rapid Spray

Hose Reel Parts Breakdown 
AFHW10B036M19

36M Fire Fighting Hose Reel Complete

 Parts List

No Parts No Parts Name

1 ASR10B Base mount frame for fire hose reel

2 AMATH100MYE Bare hose reel

3 CFBE25M20B 1” BSP to 20mm tail brass elbow

4 CFSPB25M25F 1” BSPM to 1” BSPF brass swivel

5 CFBL25F1 Back end brass nut

6 CFBL25F2 Swivel end brass nut for hose reel

7 CFPPT25M220 25-220mm screw pipe piece poly

8 CHJCH01X100X30 Spring for FF hose reel

9 CUF14519MMX36N 36m length x 19mm fire hose with nozzle

10 CHHRB10M080 Rotating handle M10 x 80 for hose reels

11 Mounting Pack 4 x M10 Nyloc nut zinc, 4 x M10 3/8 flat washer zinc, 4 x M10 x 30 4-6 zinc set screw

12 CNAFP20F Poly 3/4” adjustable fire fighting nozzle 

- to be supplied with 3/4” x 19mm hose tail

9

3

1

3 5 7 6 4 3

11 12

8

2

10


